DARENG L] L] L

iz 7 INSTALLATION

PRODUCTS

CTRANSMISSION SHROUD SET 7876)

CUSTOMER SERVICE

FITS: '07-UP TOURING MODELS (DRESSERS, ROAD KINGS, ROAD GLIDE, STREET
GLIDE) WITH ORIGINAL EQUIPMENT HEAD PIPES

PARTS INCLUDED INSTALLATION QUESTIONS
1 Front Transmission Shroud
1 Rear Transmission Shroud
1 Hardware Kit containing: LIMITED WARRANTY

4 Stand-Off Studs 5/16"-18 x 1-1/4"
1 1/4-20 x 3/4" Button Head Cap Screw (BHCS)
4 10-24 x 3/8" Button Head Cap Screw
4 5/16 Flat Washers
1 Installation Instructions

Please read and understand entire instructions before starting installation.
THANK YOU FOR CHOOSING KURYAKYN!

WARNING! YOU WILL BE WORKING AROUND THE ENGINE AND EXHAUST SYSTEM
DURING INSTALLATION. ENSURE THAT THE ENGINE AND EXHAUST SYSTEM
HAVE FULLY COOLED TO PREVENT INJURY.

ATTENTION! Some applications will require loosening or removal of the exhaust for
installation.

NOTE It is the installers’ responsibility to make sure all fasteners (including pre-
assembled) are tightened before operation of motorcycle. Ktryakyn will not
warranty components that are lost due to improper installation. Periodic
maintenance may be required.

TOOLS SUGGESTED

Set of hex wrenches, set of combination wrenches or socket/ratchet set, torque wrench.

PROCEDURE

STEP 1 Park the motorcycle on a hard, level surface; turn off the ignition and allow the

engine to cool.
ABOUT OUR CATALOG

STEP 2 Remove the stock fastener that is in the location marked “A" in PIC1.

STEP 3 Install an included stand-off stud
with a flat washer in location "A"; torque to
13-18 ft. Ibs.

STEP 4 Remove the stock fastener in
location “B"; install an included stand-off stud s oy T gy 1 CATION A
with a flat washer in location “B". Torque to -
13-18 ft. Ibs.

STEP 5 Loosen the heat shield clamp that / ; . LOCATION “B"
is just above the transmission case. See PIC.1. —— s

7876-11HD-0307 -cont.-




STEP 6 Slide the Front Transmission Cover into place; first, slide the bottom of the cover behind the
exhaust then pivot the cover in until it locates over the stand-offs.

Kiiryakyn

NOTE It may be necessary to push the heat shield clamp out of the way to ease
installation.

STEP 7 Remove the stock fastener that is in the location marked “C" in PIC.2.

STEP 8 Install an included stand-off stud with a flat washer in location “C"; torque to
13-18 ft. Ibs.

STEP 9 Remove the stock fastener in location “D"; install an included stand-off stud

with a flat washer in location “D". Torque to 13-18 ft. Ibs. LOCATION “D"

STEP 10 Slide the Rear Transmission Cover into place; slide the cover behind the
exhaust until it locates over the stand-offs.

STAND-OFFS SHOWN
ALREADY INSTALLED

NOTE Temporarily removing the fastener securing the wire clamp, shown in PIC.3, will
ease installation. Ensure that the fastener is replaced after the cover has been secured in
place.

STEP 11 Secure the two covers together with the 1/4"-20 x 3/4" BHCS; loosely for now. See
PIC.4.

STEP 12 Install the four 10-24 fasteners through the covers and into the stand-off stud;
loosely for now.

REMOVE WIRE CLAMP TO
ALLOW MOVEMENT OF

WIRES.

STEP 13 Retighten the heat shield clamp and wire clamp. 1

STEP 14 Ensure proper clearance and alignment of the cover then tighten the 1/4-20 and
10-24 button head cap screws.

Ride On!

PAGE

2

C TRANSMISSION SHROUD SET INSTALLATION)




